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(f 1. Compute the inverse function of the function f(x) =
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(‘Q 2. Compute (f'l )'(4) (the derivative of the inverse function of f, evaluated at 4), given that
f(x)=2x>+3x*+7x + 4. (The figure hints at the formula.) |
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} 4. Find an equation of the tangent line to the following curve at the point (0,1).

f(x)=¢e* cos(z - x)
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(Q 6. The following plot graphs the temperature of an object placed at time zero in an environment with
a different temperature.

"L a) Initially, is the object colder or warmer than its environment?

'L b) What is the approximate ambient temperature of the environment?

L c) Isthe exponential rate constant associated with the graph positive or negative, and how

can you tell?
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@ 7. Aninitial amount of $1000 is invested at the interest rate of 7% compounded continuously.
(Decimal approximations are not required to answer this question.)
4 a) How long will it take the investment to double?
% b) What is the equivalent annual interest rate, corresponding to simple interest applied
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QL 11. Find the limit. Use I'Hospital's Rule where appropriate. If there is a more elementary method
consider using it.
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(L) 12. Evaluate the integral f2x2 cos(3x)dx —
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T

(}7 14. Determine the value of the following definite integral, with justification: £ J.sin(x)cos(Zx)dx
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b} 15. Evaluate the integral jStan3(x)sec4(x)dx ((7 |
SNEE %%(%WZ%—H) sec K d\J( = Stan X + SM +
U=k M/ - i
\ duz sec Kok @ gomnse KM i feor e

{a)O K

v SEC
- Sg u%(u%ﬂ 0\& | Sf{ Ka\\,cvec"hc@e'”c

~SS(5"X PN ST Y
- SEE—{”S,EC'*L’ u-—=5€c>§ i“ - ‘(*/?%’3/
LQ L’] gs"(_u —l[A ;S,chf S@Cx + C
3 I - ] |
(ﬁ 16. Evaluate the integral: I5x3 1—x% dx :lg / gsm ¥ Cogt CDSJCJ\E
0
O

. dx= oot bl = “tssf &L@«%\,\T JW
Loww AU‘)

: X = S“IV]JE (—Izijéjt 47}_3 = STh SSt\nJ(( ~Cog ﬂ msf (JhL
UO

X:O:\’t:{? J(/Wj ; . Lo *171,
=l 55 = @59 Pw \ !
S S WA o
ﬂ”"‘“@")r ) \o ,%@ﬂwﬁ,} \O@



